i

19 |[]=3960+8 | 495 | 1
20 | 273485 -89916=_]| 183569 | 1
21 | 8214=_]x3 2738 1
22 | 674+ 4 =[] 1685 1
23 | 15%0f480 =[] 72 1
24 | [J+3=784 2352 1
25 | 1293 = 7000 - [] 5707 1
26 | 6187 +23 =] 269 | ¥
27 | 2427 x 88 =[] 213576 | 2
28 | 7321 +8=_] 915125 | 1
Total marks

e Question haswer

1 [ 1i=[] 121 1

2 (4ax[]=132 8 1

3 loa+]=1 0.9 1

4 | [[]+100=40 4000 1

5 |6=24+[] 4 1

6 | 6682x8=[_| 53456 | 1

7 ({[J*=64 4 1

8 |50-30=]+2 40 1

9 | [C]=109% of 200 20 1
10 | 3-4=] # (orequw | 1
M |25+(7-2 =[] 5 1
12 [ $x+=[] s forequ | 1
13 | 0012%x10=[] 0.12 1

14 | Fofro=] 2 1 |
15 |0=¥-3% 2iforequ | 1 |1
16 | 387 + 2= 193.5 1)
17 m—mﬁ:u 2855 1
18 18932 | 1 |

v
]

| s |

47+ 2628+ 15834 =[]
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271 + 824 = 1095

900 + 952 = 1852

26300 - 14 250 = 12 050
8615 - 2763 = 5852

16 528 - 7999 = 8529

27 298 + 16 597 = 43 895
7595 - 4070 = 3525

37 + 46 + 85 + 78 = 246
£193:60

. £4957

£21853, £37153

Think. Answers will vary. Answers
could involve the fact thot the
numbers are relatively close

together so counting up will work.

Written (column) subtraction will
work easily as there's only | carry.

Page 16

219 + 126 = 345

67 423 - 28 416 = 39 007
12 406 + 5092 = I7 498
8429 + 34 966 = 43 395
10 000 - 9417 = 583

476 - 298 = 178

721+ 63 + 490 = 1274

Bl 307 - 15999 = &5 30R

. 346 297 + 154 832 = 501 129
. 3498250 + 2 200 409
= 5698 659
Il. £52-80
12. 39 394, 7995
Think. Answers will vary. They
might include few carries and be
relatively close together.

S8 RPNV S WNS
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. 0.6

274 m

12, 14

2-TTm

46 cm or 46 mm

3145 kg or 3145 g
4930

Think. Answers will vary.

Nowp W



Adding and subtracting decimals @

Choose whether to use a mental strategy or a written
method to work out each calculation.

12.3:9 £2:6 =69 9. 6-04-1-98 =4-06

2. 35-25 — 18-63 = 16-62 10. 352-9 + 3-45 = 356-35
3. 1-84 —0-23 = 1-61 11. 2-2-0-78 = 1-42

4. £16-88 + £3-47 =£20-35 12. 6-48 + 3-57 = 10-05
5. 38:65' 1 7-89 +3-25 =49-79  13. 11:03/—995'=1-08
6. 10 — 3-47 =6-53 14. £20 - £6-89 = £13-11
7.26-74 +0-99 =27-73 190 -9+ 3:-9+ 2-8 = 14:2
8. 4-08 + 25-61 = 29-69 16. 27-43 — 18-76 = 8-67

17. Check your answers using addition or subtraction. Make sure
you are correctl E.g. 6-5 -2-6 = 3-9, 18-:63 + 16-62 = 35-25
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3.86 + 135.72 = 209-58
9.6 -3.75=585

8.5 ~269=58I|
68.37 + 164.78 = 23315
075 and 0-25

08 and -2

145 |

2’88 m

333 kg

10. 57:05 km per hour

Think. Possible answers: 4815 +
16:56, 38°15 + 2656, 28°15 + 3656,
1815 + 4656

8 MO NOWMMWNFT



Open the Box Answers

D wtinmn LT g

Kizran nends to nen 2500 metre. In the first ten meinufes he nens 539 mefnes and in the seoond Ben minustes
he runs 754 metres. How much further does hie still need to nen?

MET mefres

Chiscalafe besr: £1.39

Pack of marshmalless: £2.4T7

2. Packet of swets: £1.74

Spicial Offer: &ny theee items for £4.10

How musch moniy will Len sove by buging one of esch item using the special offer?

£1.52

Yuan and Chas are trying te find out hew many stor jumps they can de in two minufes. Tn the first
minute, Yiesn completes 48 star jumps and in the second minute, he completes 56 star jumgps. Chan
completes 185 star jumps in b meinotes

‘What is the difference betwsen the amount of star jumps completed by Yuan and Chan?

w

Mrs Flood hes 1938 pencils at the beginaing of the school yesr. Tn term one, 268 pencils ane used and in
term v, 327 pencils are used How many pencils are left emaining to use in term three?

ThE

Fish: £3.55

Chips: £1.29

5. Gravy: E0.75

Pzt E0D

Migel has £S5 He wants to buy fish, chips and pess. How mach mone meoney will Migel neiad?

L TG

& bottie holds tae Libres of freshly squesred omange juice. Denver fills three glosses with orange juice. He
puts 170 millilitres in each gloss. How much orange juice is keft in the bottle?

atmi




Open the Box Answers

Ty car £12.49,

Board gemne £25.28,

Bullding blocks £34.39

Al and Rllard want to buy ene of snch toy. Amil rewnds the price of eoch toy te the nearest £10 and
odds tham together. Rikbwnd odds the esact price of snch toy together. What Is the difference betwaen Amil's
and Mkord's total?

£2.24

Weolly hat: £11.75

Gloves: £4.95

Agdin has a twenty-pound and a Rer-pound note. How much changs will ke recelva i e bugs twe woolly
hats and o palr of ghowes?

ELEE

Milzy ond Tomnes each hove somse mondy. Altagether, they howe £3.20. Billay ghes Jamnas 209 so that thay
btk hove the sonss amnosint. How maich money dld they each hove at the start?

Miley: £1.80 Tomeaz: £1.40

Class A has o race, Eat's s ls 47 secomds. Charlle finlshes ndne seconds before Kok, Maorlo findshes 15
secomds after Charlle. Birkir findshes 38 secomds before Morio. What s Blrkir's time n seconds?

2§ seconds

Cooklis: £0.75 anch
Bigng: E0.90 anch
Serjl bought some cookles and bums, He spent E4.20. How many of eoch (e did he bay?

Thrae buns and oo coolies

Phasehe bowght o riler and o pencll. She pald £1.45. Leoh bueght a ruler ond teo pernclls. She pald £1.800
Horee misch does o ruler cost?

N




Open the Box Answers

Toy car £12.49,

Board gamme £25.38,

Busllding blocks £34.39

Al and Rlberd want to buy oo of anch toy. Amil rewnds the price of eoch boy to the nearest £10 and
adids them together. Rikord odds the et price of such toy together. What |3 the difference betwaes Amlls
and Rlkard's tednl?

L2328

Waolly hotr £11.75

Gloves: £4.95

Agdin has o twestby-pound and o tene-pound note. How mich change will b recelve if ke b tes woolly
hats and o palr of ghewes?

LL5Y

Miley and James each hove soms meney. Albogether, they have £3.20, Hilay ghwes Jamaes 20p so that thay
btk howva the samst asoeint. How meich moniy did they eoch hove af the start?

Mileg: £1.80 Jomes: L1460

Closs & e o roce. Kof's time bs 47 seconds. Charlle finkshes nisme seconds before Kat. Maria finishes 15
secomds after Charlle. Birkir findshes 8 secomds before Morioe. What |s Blrelrs time (n seconds?

24 seconds

Cookles: £0.T5 aach
Bagna: 090 anch
Serjl bought some cookbis and bisns, He spent £4.20. How many of sock ltem did he buy?

Thres buas and tioo coekies

Phosebe bouwgit o ruler ond o pencil. She pold £1.45. Leoh bought o neder ond teo penclls. She pold £1.800
Hoee musch dos a ruler cost?

N




Extra Challenge Answers

Dugstion

Angiwdr

Thi PopeUp store hos 2485 maesgs at the beginalng of the doy. & further 1248 mugs are delbverd. During the
day, 5287 misgs are sobd How mony misgs dods the store have at the end of the day?

G

At the Pop=Up store, woolly hots cost £6.95, glowes cost E4.99 ond soorees cost £13.48
Emma buys thees hats, one sef of gloves and two soorves When she arrives at the till she ks told that there
is 20% off the toetol cost. How misch chonge will she recebe from £507

£7.74

On the top shelf, there are 149 T-shirts, on the middle shelf there are 48 T-ahirts and on the bothosn shalf,
there ane 81 Teshirts. Boch Teshdrt cosits the store £2.5% to purchase. If sach T-shirt |s sold to the cusboaner
Jor £12.50, how mach profit will the store make If ol of the T-shirts are sold?

£2T55.5%

Malen hos €200, With her mondy, she woisld |lke to purchase o signed guitar priced £186.60 What could
she peirchode |n the store 30 she will net howe any change beft over?

Longard: £3.80

Phone cose: ET.60

Peagiter: £1.15

Sticker: ED.10

Multiple answers, e.g. oo phone cases, toe stickers




I&farmer has 77 pigs, 123 sheep and 115 cows.
He buys 35 more pigs and 121 more sheep. He sells all
of his cows.
How many animals has he got altogether?
=356

Calculate:
(197 + 225)— (166 — 72) = 184

Mary collects marbles and wants to reach the target of
300.
She already has 64 yellow marbles, 47 red marhles, 42
green marbles and 28 purple marbles.
How many more marbles does she need?
=119

lane is washing cars for charity.

She washes 25 on Monday, 17 on Tuesday, 26 on
Wednesday, 19 on Thursday and 28 on Friday.
How many cars has she washed altogether?
=115

Make the two sides of the calculation balance
[653— 176)= (562 - £5)

Add together:
111,222 333 444
=1110




Answers

Have you mastered solving problems?
a. 4l-4m

b. 100. You can work this out by using the inverse operations, subtracting 17 from 85 and
then adding 32.

c. Answers will vary.

Champions’ Challenge
l. 3l and 47

2. Any two numbers where the larger number is at least twice as much as the smaller
number, and 471 comes exactly halfway between the two, for example 300 and 642.

3. Any two numbers that are more than 40 apart but less than 50 apart, and 471 comes
exactly halfway between the two, for example 450 and 492.



CHALLENGES

Answers

Challenge 1 - star = 10, heart = 17, triangle = 0

Challenge 2 - A pencil costs 8p

Challenge 3 - Amir’s number is 538, Donna’s number is 853
Challenge 4 - Perimeter = 64 cm

Challenge 5 - The length is 480 cm

Challenge 6 - The height of the last tower is 23.9 cm

Challenge 7 - The fraction shaded is 5&



